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Oprkomutety u xtopu |l (MyHHIIMDATBHOTO) 3TAna
BCEPOCCUMCKON OJMMIINA/bI IIKOJBHUKOB 10 aHIITMHCKOMY SI3BIKY

1. PexomeHnyemoe BpeMs MPOBEACHUSI OJTMMITHA B PEACTABICHO B TA0JIHIIE.

Bpewms MakcnmansHOE
KOJINYECTBO 0alIoB
5-6 xiaccel | 40 MuHYT 25 GamnoB
7—8 xnaccel | 70 MUHYT 50 6amnoB
9-11 xnaccel | 100 MunyT 50 6amnoB

2. Y4acTHMKaM  3ampeliaeTcss HUCIOJb30BaTh  MOOWJIBHBIC — Tele(OHBI, IUIAHIICTHBIC
KOMITBIOTEPBI BO BpeMsi pabOThl Haja 3amaHusMu, (GoTorpadupoBaTh 3aJaHUS M BBIHOCHTH HX W3
ayJIMTOPUHU BO BPEMs BBITIOJIHEHUS KOHKYPCHBIX 3a/IaHUN.

3. AynMoTekCcThl IJIsi KOHKypca TOHHUMAaHMsS YCTHOM peYd Kjaccax NPWIAraloTcs B
MP3/MPEG dopmare.

4, HenocpeaCTBEHHO TIOCIIE TPOBEACHUS 3aJlaHUi TpeACeaaTellb KOMHCCHH TPOWU3BOJIUT
paz0op pernieHui I YYaCTHUKOB OJIMMITHAABI U WX HACTABHUKOB. Bpems MaHHOTO MEpOINpHUSATHS
0OBSBIISICTCS 3apaHee, BO BPEMs OTKPBITHS OJIUMITHATBI.

5. [Ipu BBITIOJIHEHNU PA0OT MO KOHKYPCY MHUCbMEHHOW PEYH y4allluMCsl 3ampeniacTcs 1e1aTh
PUCYHKH, TIOMETKH W Jp., MAPKUPYIOIIUE WJIW TOSCHSIONIME HMX OTBETBI, HEAOMYCTHMBI TaKXKE
UCIIPABIICHUS B TEKCTE pa0OTHI MITPUXOM. PaboThI, B TEKCTE KOTOPOM COMEPIKUTCS HEHOPMAaTHBHAS
WM OOCIICHHAS JIEKCHKA, CHUMAIOTCS ¢ KOHKYypCa.

6. IIpu Hamuuum opdorpaduaeckoit omudku B orBeTe 6amu1 HE 3SACUUTBIBAETCAL.

7. IIpoBepka paboT ydaniuxcs ¥ Ha4YUCJICHUE OaJIJIOB OCYIIECTBIISAIOTCS CTPOTO IO KITF0YaM U
KPUTEPHUSM, TIPEACTABICHHBIM B METOJMYECKUX PEKOMEHIanusIX. HemomycTuMo onieHuBaTh TOT WU
WHON OTBET B JAPOOHBIN OallI, TAK KaK 3TO HE MPETyCMOTPEHO METOJMYECCKUMHU PEKOMEHIAIUSIMHU
(KkpoMe KOHKYpca MOHUMAHMs YCTHOH peun B 7 — 8 kiaccax). [Ipy coMHEHUN B TIPaBUIBHOCTH
KJII0Ya WIM TPH BO3HUKHOBEHHWU BEPOSTHOCTH aJbTCPHATUBHOTO KIIOYA CIEAYET OINEPATUBHO
CBSI3aThCA C MPEACTABUTEIISIMA PETHOHAIIBHON MPEAMETHON KOMUCCHUHU.

8. JIJis y9aCTHUKOB OJIMMITHA]IBI M3 PAMOHHOTO IIEHTpa (ropoaa) U OJIM3IIekKAIIUX HACCIICHHBIX
MYHKTOB B yJAOOHBIE CPOKHM HEOOXOJUMO IMPOBECTH MPOIECAYPY aNeIUIAINH, O CPOKaX amneJUIsiuu
clemyeT OOBsIBUTH MEpe/l HadaJloM OJIMMITHAIBI. B mpoliecce aneuisannuy yqamnuecs: 3HaKOMSITCS CO
CBOMMH pe3yJbTaTaMH, W, B CIydae HECOTJIACHs C OIEHKOW KIOPH, UMEIOT MpaBO 000CHOBATH CBOE
pemeHre. B pesynbpTaTe KIOpH MOXET YIOBICTBOPUTH WM OTKIOHUTH ameiusiuio. B mepBom
ciydae O0am1 MOKeT ObITh, KaK TMOBBIIICH, TaK W MOHWKEH. Bo BTopoMm cimydae Oamn octaeTcs 0e3
W3MCHCHHUI.

9. Utoru x1opu MOJBOIUT MO MapajuiesisiM, BbICTpauBasi paHKUPOBAHHBIN CITUCOK y4alllUXCs
10 YOBIBAaHUIO UTOTOBOTO Oasija.

Kenaem ycnexal!



3aganusd

5 — 6 kiacchl
Kounkypc nonumanus ycmuou peuu
[IpocnymaiiTe TEKCT IBaXKIbI U BEIOEPUTE B BOMPOCax |1 — 5 mpaBUIIbHBIN BapUaHT OTBETA.

1. The man has :
1) 2 granddaughters 2) 2 grandsons 3) a granddaughter and a grandson
2. One colouring books costs
1) $15 2) $20 3) $30
3. The children’s birthday is on :
1) Christmas Day 2) December 20 3) Christmas Eve
4. Each grandchild will get .
1) one gift 2) two gifts 3) three gifts
5. The man’s daughter likes to
1) cook 2) read 3) draw

Konkypc nonumanus nucomennou peuu
[Ipouuntaiite npemioxkenuss A — J U MOCTaBbTe MX B MPABUIBHOM MOPSAKE, YTOOBI MOIYYHUIICS
CBSI3HBIUA TEKCT.

A. That is so because Russia is a great country.

B. Among them there are many writers and poets, painters and actors.
C. We have amazing rivers and lakes, mountains and forests.

D. Our technologies are needed everywhere in the world.

E. Finally, Russian people are very friendly and always ready to help.
F. Secondly, Russia has the best scientists in the world.

G. Like many Russian children, I’'m proud that I’'m Russian.

H. Come to Russia!

I. Thirdly, Russian nature is beautiful.

J. Firstly, Russia is the motherland of many talented people.

1 2 3 4 5 6 7 8 9 10

Jlexcuxo-epammamuueckuil KOHKYpC

Yactp 1
[IpounTaiiTe TEKCT U BHIOEpUTE MTPaBUIILHBIN BApUAHT OTBETA.

A visit to Hollywood

Last Christmas | spent two weeks in Hollywood. My friend Mary lived there. | travelled by plane
to Los Angeles, which A thirteen hours. She picked me up at the airport and drove me in B
car all the way back to Hollywood. Mary lived in a beautiful house up in the mountains.
She soon started taking me about to see the wonderful sights. We visited Universal Studios. This is
where the C old films have been made. We D to Disneyland, which is a little way
outside Los Angeles. She said, “You E it there,” and I did. We spent a whole day there. The
days flew quickly, because every day we had an outing. The Americans F very polite and

friendly, and I had a wonderful time.



Bri0epuTe npaBUIIbHBIN 0TBET
A |l) take |2) will take |3) taking 4) took
B |1) she 2) her 3) hers 4) herself
C|1) good |[2) better |3) more good |4) best
D|1) go 2) goes 3) went 4) going
E |1) enjoys|2) enjoyed |3) will enjoy |4) enjoying
F|1) was |2) were 3) will be 4) have been

Yacts 2
[IpounTaiitTe quanor W 3amoJIHUTE MPOIMYCKH CIOBAMHU M3 CIIKMCKa cropaBa. J[Ba cioBa B KOJIOHKE
JIAIIIHAE.

A dialogue Words
— Hi, Nick. We are having a test on Monday. Can you help me with 1. subject
my Math? 2. prepare
— Of course, | can. 3. homework
—Areyou A on Saturday? 4. busy
— In the morning I have English courses, at 3 o’clock I play football. 5. write
But after that we can B for the test. 6. lesson
— OK, 5 o’clock then. What’s the next C ?
— Russian, | think. Have you done your D ?
— Sure. Here’s the bell! Let’s go.




7 — 8 kaacehbl
Kounkypc nonumanus ycmuou peuu

Listen and spell correctly the names of these famous people in the USA. You will hear the recording
twice.

11.

12.

13.

14.

15.

16.

17.

18.

19.

BE|©O|0 N0~ Wi

0. 20.

Cmpanosedueckuii KOHKYpC

Match the people from the previous task with the direct associations with them. You will need ten
names only. Write the name OR the number of the name.

Box

| have a dream!

The Pirates of the Caribbean

The lightbulb

The Nobel Prize

Microsoft

The Adventures of Tom Sawyer

Planes

Rock’n’roll

B2|©Q|0 N o0~ w N -

0. Cars

Konxypc nonumanus nucomennou peuu

Read the text and mark the following statements 1 — 10 as (1) TRUE, (2) FALSE or (3) NOT
STATED.

A strange man

Purcell was a small man. He owned a pet shop. He sold cats, dogs, monkeys and birds. Each
morning when he completed the routine of opening his shop, he sat down on a high stool behind the
counter and read a morning newspaper.

It was a cold rainy day. Mr. Purcell was reading a newspaper as usual when a customer appeared
in the shop and said that he wanted something in a cage. “Something in a cage?” Mr. Purcell was a
bit confused. “Do you mean some sort of pet?”

“I mean what I said!” answered the man. “Something in a cage. Something alive that is in a
cage.”

“I see,” said the shopkeeper not sure that he did.

He started to offer different pets, but it seemed that the price was too big for the customer. At
last, he decided to have two white doves for five dollars. Mr. Purcell handed the cage to him.

“Listen,” the man said suddenly. “How long do you think it took me to make those five dollars?”
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Mr. Purcell was in a state of panic, but he asked, “Why, how long?”’

The customer laughed. “Ten years! I’ve spent ten years in jail. Ten years! Fifty cents a year!”

He took the cage and left the shop. Mr. Purcell came up to the shop window to look at the
customer who was holding the cage and took the birds out. Soon they disappeared in the grey sky.

1. Mr. Purcell sold exotic pets.

2. Mr. Purcell was a man of habit.

3. Mr. Purcell enjoyed rainy weather.

4. The customer knew exactly what he needed.

5. The customer had a lot of money.

6. The customer loved doves.

7. Mr. Purcell felt comfortable with the customer at first.
8. The customer spent some time in prison.

9. The customer decided to kill the doves.

10. Mr. Purcell has never seen the customer since then.

Jlexcuxo-epammamuueckuil KOHKYypC

Choose the correct variant.

1. I will arrive ____ Paris tomorrow.

| A)in | B) at | C) to |
2.1don’tallow ____ inthe room.

| A) smoking | B) to smoke | C) smoke |
3.IfI __ the medicine yesterday, I’d feel better today.

| A) had taken | B) took | C) would take |
4. Have you ever been _ Greece?

| A)in | B) at | C) to |
5.0ne __ cross the street on the red light.

| A) shouldn’t | B) can | C) cannot |
6. Loch Ness is a mysterious place in Scotland.

| A) the |B)a 1C)- |
7.1 __ five pages so far.

| A) wrote | B) will write | C) have written |
8. Look at these dark clouds. It torain.

| A) will rain | B) is raining | C) is going to rain |
9. Thistaskis __ than the previous one.

| A) more simple | B) simpler | C) simplest |
10.  Mario’s is my favourite restaurant.

|A) - | B) the C)a |

Koukypc nucomennot peyu

Hamummre kopotkyro 3amerky (120 — 150 crmoB) B mIKOJIBHYIO Tra3ery o Bamem MHeHHH O
HEOOXOJMMOCTH OpraHW3alliy TeaTpalbHOW CTyIWU B INKOJE. Bhipasure CBOIO TOYKY 3peHHS,
0o0OCHYHTE ee, MPUBEIUTE MPUMEpPHI, JAUTe PEKOMEHIANW AIMHUHHCTPAIIMU IIKOJBI MO TIOBOIY
HE00X0IMMOCTH OpraHU3alluy TeaTpalbHOM cTynuu B mkose. opma cBoOOIHAS.



9 — 11 knaccwl
Koukypc nonumanus ycmuoii peuu

Watch the video ONCE and mark the following statements as TRUE (1), FALSE (2) or NOT
STATED (3).

1. The man is annoyed with the boy at first.

2. Adam’s grandfather looks like Joseph.

3. Adam finds Joseph an interesting man.

4. Adam is a good student.

5. Joseph’s wife passed away.

6. Adam has never given Katie a present.

7. Joseph doesn’t like laughing.

8. Katie is Adam’s only girlfriend.

9. The man sounds quite pessimistic about his future.
10. The boy went home.

Konkypc nonumanus nucomennou peuu
Read the text and choose the correct answers to the questions below.

The evolution of birds

Analysis of birds and of reptilian fossils indicate that birds belong to the group called therapods.
Several species if dinosaurs closely related to birds had feathers with vanes, and a wider range of
species had filamentous feathers. Such findings imply that feathers evolved long before powered
flight. Among the possible functions of these early feathers were insulation, camouflage, and
courtship display.

Many of the characteristics of birds are adaptations that facilitate flight, including weight-saving
modifications that make flying more efficient. For example, birds lack a urinary bladder, and the
females of most species have only one ovary. Living birds are also toothless, an adaptation that trips
the weight of the head.

A bird’s most obvious adaptations for flight are its wings and feathers. Feathers are made of the
protein B-keratin, which is also found in the scales of other reptiles. The shape and arrangement of
the feathers form the wings into airfoils, and they illustrate some of the same principles of
aerodynamics as the wings of an airplane. Power for flapping the wings comes from contractions of
large pectoral (breast) muscles anchored to a keel on the sternum (breast-bone). Some birds, such as
eagles and hawks, have wings adapted to soaring on air currents and flap their wings only
occasionally; other birds, including hummingbirds, must flap their wings continuously to stay aloft.
Among the fastest birds are the appropriately named swifts, which can fly up to 170 km/hr.

Flight provides numerous benefits. It enhances hunting and scavenging; many birds consume
flying insect, an abundant, highly nutritious food resource. Flight also provides ready escape from
earthbound predators and enables some birds to migrate great distances to exploit different food
resources and seasonal breeding areas.

Flying requires a great expenditure of energy from an active metabolism. Birds are endothermic;
they use their own metabolic heat to maintain a high, constant body temperature. Feathers, and in
some species layers of fat, provide insulation that enables birds to retain their body heat. The lungs
have tiny tubes leading to and from elastic air sacs that improve airflow and oxygen uptake. This
efficient respiratory system with a four-chambered heart keep tissues well supplied with oxygen and
nutrients, supporting a high rate of metabolism.

Flight also requires both acute vision and fine muscle control. Birds have excellent eyesight. The
visual and motor areas of the brain are well developed, and the brain is proportionally larger than

8



those of amphibians and nonbird reptiles. Birds generally display very complex behaviours,
particularly during breeding season, when they engage in elaborate courtship rituals.

How did flight evolve in the therapods? In one scenario, feathers may have enabled the small,
running dinosaurs chasing prey or escaping predators to gain extra lift as they jumped up into the air.
Or, small dinosaurs could have gained traction as they ran up hills by flapping their feathered
forelimbs — a behaviour seen in birds today. In a third scenario, some dinosaurs could have climbed
trees and glided, aided by feathers. Whether birds took to the air from the ground up or from the trees
down, an essential question being studied by scientists ranging from paleontologists to engineers is
how their efficient flight stroke evolved.

By 150 million years ago, feathered therapods had evolved into birds. Archaeopteryx, which was
discovered in a German limestone quarry in 1861, remains the earliest known bird. It had feathered
wings but retained ancestral characteristics such as teeth, clawed digits in its wings, and a long tail.
Archaeopteryx flew well at high speeds, but unlike a present-day bird, it could not take off from a
standing position. Fossils of later birds from the Cretaceous show a gradual loss of certain ancestral
dinosaur features, such as teeth and clawed forelimbs, as well as the acquisition of innovations found
in extant birds, including a short tail covered by a fan of feathers.

1. The word modifications in the passage is closest in meaning to
A) Made different
B) Made better
C) Made smaller
D) Made modern
2. According to Para 2, how did birds adapt to achieve efficiency flight?
A) They developed new, lighter organs.
B) Their muscles became smaller over time.
C) Most of their weight was distributed in their heads.
D) Heavy teeth disappeared during evolution.
3. In Para 3, the author explains the term ‘keratin’ by
A) Identifying it in feathers and scales
B) Comparing it to airfoils
C) Providing a definition in the text
D) Describing the way it looks
4. According to Para 3, which of the following is TRUE about the wings of birds?
A) All birds flap their wings constantly by using breast muscles.
B) Eagles and hawks have wings that propel them at 170 km/hr.
C) The airfoils of birds function like the wings on airplanes.
D) Wings are attached to airfoils in the bird’s skeletal structure.
5. The word their in the passage refers to
A) Feathers
B) Species
C) Layers
D) Birds
6. The word elaborate in the passage is opposite in meaning to
A) Simple
B) Quiet
C) Sad
D) Short
7. The word essential in the passage is closest in meaning to
A) Very clear
B) Very important
C) Very difficult
D) Very new



8. According to the passage, how did therapods develop flight?

A) Engineers believe that they flapped their wings to gain lift.

B) Scientists have proposed several different possibilities for flight.

C) Paleontologists think that they glided down from high trees.

D) Researchers confirm that flight began with running and jumping.
9. According to Para 8, what can be inferred about Archaeopteryx?

A) A feathered fantail was prominent.

B) Lift off was achieved by running or gliding.

C) Teeth had been replaced by a beak.

D) The habitat extended throughout Europe.

10. All of the following are mentioned as adaptations to the bird’s anatomy to accommodate flight

EXCEPT
A) The arrangement of feathers
B) A high metabolic rate
C) Very sharp eyes
D) Small legs and feet

Jlexcuko-epammamuueckutl KOHKYpC
Part 1

For questions 1 — 5 find the word which best completes each sentence in the group.

1.

He works hard — he is in of a department.

Canl my phone while I’m at your place?

They too much for their food — it’s not worth it.

2.

After Robinson Crusoe’s ship wrecked, he found himself on a island.

A group of vultures were circling over his head while he was making his way through the
I love you so much that I’ll never you.

3

Be very careful while in the city. Somebody may pick your
The whole town was his. Even the mayor was in his
He reached into the to produce his passport.

4,

Can |l buy a of first-class stamps here?

We strongly recommend you to now as the offer is limited.

I’m in my teacher’s black for not handing in my essays on time.

5.

Parents’ praise helps to their child’s self-esteem.

He was tall and of a muscular

We need to bridges between the Western and Eastern communities.

10



Part 2
For questions 1 — 15 read the text below and look carefully at each line. Mark the correct lines with
(+). If a line has a word which should not be there, write it out.

0 | passed through my test three weeks ago, so | through
00 still drive with a certain amount of caution. My mother +
1 gave to me her car, and | get some help with tax and

2 insurance because it’s so much expensive. I think

3 cost and crime are the most negative aspects of

4 owning a car, and you have to realize about how

5 powerful and possibly dangerous a car can be.

6 | enjoyed the learning to drive and my instructor was

7 very patient and uncritical. I’ve been noticed that

8 other drivers are not as patient as when you don’t

9 have L-plates anymore. | haven’t had any accidents

10 or near misses yet — the worst thing that could happened

11 was when | broke out a wing mirror during a lesson.

12 A near miss is probably a good thing because it

13 makes you to be more careful. Safe driving has a lot to

14 do with attitude. In my opinion, 17 is too young to

15 begin learn to drive. Perhaps 20 would be a better age.

Konxypc nucomennoti peuu
Imagine that you have entered a competition for the best story. You should write a funny story (200 —
250 words) based on the photo below.
Don’t forget to:
give your story a title;
try to make it original;
include examples of direct OR indirect speech;
include descriptions of feelings and emotions of the main character(s);
invent an expected ending.

11



TekeThl, KIYH, KOMMEHTAPHH K 32/IaHUAM M IIKAJIbI OLleHUBAHUS
NMPOAYKTHBHBIX BUI0B pe4eBoil 1eATeJIbHOCTH

5 — 6 kiaaccnl

3ajanue Bpewms MaxkcuManbHbIN OaJi
Konkypc noHumanusi yCTHOM peun 5

KoHkypc moHMMaHusI NMCbMEHHOM peun 10
Jlekcuko-rpaMMaTHYEeCKUH KOHKYPC 10

HUroro: 40 25

Konxypc nonumanus ycmnoii peuu

Ay,Z[I/IOSaHI/ICB ClcJIaHa € YUYC€TOM IIOBTOpA, IMay3 U BCCX HeO6X0,Z[I/IMBIX OCTaHOBOK. OpraHmaTopH B
AYJUTOPUH BKIIIOYAKOT TPCK OT Ha4aJla 1O KOHIIA.

Script

Shop assistant: Can | help you?

Man: Yes, please. I’d like to buy some books as a gift for my grandchildren.

Shop assistant: How old are your grandchildren?

Man: Four years old. A boy and a girl. My daughter has twins, you see.

Shop assistant: How nice!

Man: Yes. I’d like to buy two books of fairy tales. What else could you recommend?

Shop assistant: We have very nice colouring books for children that age. Do they like drawing?

Man: Absolutely! That’s a great idea!

Shop assistant: Here are some books of fairy tales. They cost $20 each. The colouring books are $15
each.

Man: Excellent. I’d also like two boxes of coloured pencils.

Shop assistant: Here you go. Is that a Christmas gift?

Man: No, it’s a birthday gift. They were born on the 20" of December.

Shop assistant: Would you also like to buy a Christmas gift for your daughter? We have a wonderful
cook book for just $30.

Man: She lives cooking. I’1l take that, too. Thank you very much!

Shop assistant: You are welcome!

Kimrou: 31231
Koukypc nonumanusi nucomennoii peuu

3a KaKJbli MpaBUIBHBIA OTBET ydaluiics moiayyaer 1 6a.
Kmou:1-G;2-A;3-J;4-B;5-F,;6-D;7-1;8-C;9-E; 10-H

HGKCHKO-I‘paMMaTH‘IeCKI/Iﬁ KOHKYpPC

3a Ka/Iblil MPaBUIIbHBINA OTBET yyaruiics nosydaer 1 6asm.
Yacrs 1

Kmou: A-4,B-2;,C-4,D-3;E-3;F-2

Yacrs 2

Kmou: A-4;,B-2;,C-6;D-3

12



7 — 8 KiIacenl

3aganue Bpems MaxkcuMaIbHBINH 0ait
KoHkypc noHMMaHMs YCTHOU peun 10
CrpaHOBETUECKHI KOHKYPC 10
KoHKypc noHMMaHMs NMCbMEHHOM pedn 10
Jlekcuko-rpaMMaTHYEeCKU KOHKYPC 10
Konkypc nucbMeHHOM peun 10
Uroro: 70 50

Kounkypc nonumanus ycmuoui peuu

TpeK H606XOILI/IMO BKIIFOUUTH JBaX/bI. BpeMH Ha MOATOTOBKY yHallUMCA HC OAaCTCA.

Script and key
1 — Henry Ford, 2 — Elvis Presley, 3 — Ernest Hemingway, 4 — Marylin Monroe, 5 — John Kennedy, 6
— Bob Dylan, 7 — Michael Jackson, 8 — Martin Luther King, 9 — Johnny Depp, 10 — Mark Twain, 11 —
Muhammad Ali, 12 — Thomas Jefferson, 13 — Bill Gates, 14 — Emily Dickinson, 15 — Sarah Palin, 16
— Thomas Edison, 17 — Amelia Earhart, 18 — Neil Armstrong, 19 — Barack Obama, 20 — William
Penn

3a KaXIIblil MPaBWIBHBIN OTBET ydamuiics noiydaeTr (.5 Oanna, MakCMMadbHBIA WTOTOBBIA Oaill 3a
KOHKYypc — 10 6aoB.

Cmpanosedueckuii KOHKYpC

3a KaXkAbli TPaBWIBHBIA OTBET ydammiica monydaer 1 Oamn. [lpu mpoBepke HE YYHTHIBAIOTCS
opdorpaduyeckne ommoOKH, eciau UM U HaMIIIAS B 1IEJIOM Y3HABAEMEI.
Kumrou: 1 — 11 (Mohammad Ali), 2 — 8 (Martin Luther King), 3 — 9 (Johnny Depp), 4 — 16 (Thomas

Edison), 5 — 19 (Barack Obama), 6 — 13 (Bill Gates), 7 — 10 (Mark Twain), 8 — 17 (Amelia Earhart),
9 — 2 (Elvis Presley), 10 — 1 (Henry Ford)

Komnxypc nonumanus nucomennou peuu

3a KaXIbpli MPaBWIBHBIA OTBET ydamuiics momydaeT 1 Oamn. He mmeer 3nadenws, nuudpamu wim
CJIOBaMU yYalIuiicsi 0003HAYMII CBOM OTBET.
Kirou B 6ykBax: 1 —NS;2-T;3-NS;4—-F;5—-F; 6 —NS;

7—-F;
Kirou B mudpax: 1 —-3;2-1;3-3;4-2;5-2;6-3;,7-2;8-1;

1

8-T;9-F; 10 NS
9-2,10-3

Jlexcuko-epammamuueckutl KOHKYpC
Kmou: 1-A;2-A;3-A;4-C;5-C;6-C;7-C;8-C;9-B;10-A
Konkypc nucomennou peuu

KoHkypc mnHChbMEHHOH pedyd OLIEHMBAETCAd B PEXUME JTUXOTOMHYECKOM IIKOJIBI, TaK Kak
JTUXOTOMHYECKAS IIKaja IOMYyCKAaeT 3HAYNTEIIHPHO MEHBIIIYIO JIOJ0 CYOBEKTHBU3MA TIPH OI[CHUBAHUH.
[Tepen TeM, kak MpoBepsATH pabOTy, KIOPH TOJICUUTHIBAET KOJWYECTBO CJIOB B Heil. Eciu B pabote
menee 108 cnoB (120 — 10% ot 120), To pabota He nposepsercs («rexuudeckuit» 0). Eciu B padote
6osee 165 cioB (150 + 10% ot 150), To mpoBepke mojIekat ToabKo nepsbie 150 cios.

[Ipu onenuBanum paboThl WieHy Kiopu npuzaercs Ha 10 BompocoB mo paboTe OTBETUTH «a» HIIU
«uet». Kaxnmprii oTrBeT «ma» o0o3HayaeT 3apaboTaHHBIN ydammumcs | Oamr. MakcumanbHOE
KOJIMYECTBO 0aIoB 3a JaHHBIA KOHKYpC — 10.
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XKropu mpoepsier 3ammdpoBaHHbIe paboThl. [Ipy HamMuuum B paboTe MOMET, HE OTHOCSAIIUXCS
HEMOCPEJACTBEHHO K BBIMOJHEHUIO 3aJ[aHMsl, JIMYHOW TMOJINUCH, a TaKXKe HCIPABICHUN
KOPPEKTUPYIOIIMMU CPEICTBaMu, paboTa J0KHA OBITh CHATA C KOHKYpCa.

PaboTy npoBepsroT Ba WieHA KIOPHU HE3aBUCUMO JIPYT OT Apyra. Eciu B o1ieHKe IBYX WICHOB JKIOPH
€CTh pa3Horiacue B 1 6ayut, To pe3ysbTaT TPAKTYIOT B MOJIb3y PeOCHKA (BBICTABIISIOT 00JIee BRICOKHMA
6amn). Ecnu B o1ieHKe ABYX YJICHOB JKIOPH €CTh pa3HOIIacue B 2 0aiia, TO pe3yabTaT OyaeT CpeIHUM
apuQMETHIECKUM OIEHKH JIBYX WICHOB XIOpH. Eciu pa3sHoriiacue BO MHEHUSX JIBYX YICHOB JKIOPHU B
3 Gama mim Gonee, paboTa POBEPSAETCS JIMYHO TPEACEaaTeIeM KOMUCCHH WIIA YIOJTHOMOYCHHBIM

WJIN IPpEACTABUTCIICM, U TOJIbKO PC3YJIbTAThI TpeTbCfI IIPOBCPKH BBICTABJIAIOTCA B IIPOTOKOJI.

Ne | Kpurepnit KommeHnrapuit

1. | Yyamwuiics nenut paboTy Ha ab3alpbl. KomuuectBo  a03aumeB  MoxkeT  OBITh
m00bIM, HO HE JOITyCKaroTCs ad3albl W3
OIHOTO TpEIOKEeHHsT (BCTYIJICHUE U
3aKJIIOYEHUE MOTYT TIPEICTaBIATh COOOM
OJTHO, HO CJIOXKHOE MPEJJIOKECHHUE).

2. | Yuammiicst TOHSUI 3a1aHne (KaHpP 3aMETKU
B IIKOJIbHYIO Ta3€eTy).

3. | Yuamuiics BBICKa3bIBaC€T CBOIO TOYKY
3peHUsT 0 HEOOXOIUMOCTH OpraHu3aluu
TeaTpaJIbHOM CTYJMU B IIKOJIE.

4. | Yyamuiica o0OOCHOBBIBAaE€T €€ HE MCHee
YeM JIByMsl apryMEHTaMH.

5. | Yyamwmiics npuBOgUT XOTS OBl OJUH
puMep U3 COOCTBEHHOM JKM3HU U T.I1.

6. | Yuammiics BbICKa3bIBaeT XOTS Obl onHY | Pexomenmarus JIOJDKHA JIOTUYHO
PEKOMEHIAIIMIO aMUHUCTPAIIMN TIKOJBI | BBITEKATh W3 MPEIBLIYIINX PACCYXIACHUN
10 TIOBOJYy OpraHW3aIlM{ TeaTPaIbHOM | yJalierocs.

CTYJINH B IIIKOJIC.

7. | B pabore mpuCyTCTBYIOT He MeHee 5 | YUMUTBHIBAIOTCS BBOJAHBIC CJIOBA, a TaKKe
pPa3HOOOpPA3HBIX  CPEACTB  JIOTMUECKOM | CBS3YIOIIHE 3JICMCHTBI B
CBSI3H. CJIO’)KHOTIOTYMHEHHBIX MIPEIITIOKCHUSX.

8. | B paGore mpucyrcTtByroT He Oojiee nBYyX | ONIMOKM  MOICYMTBHIBAIOTCS  METOJOM
rpaMMaTHYECKUX OIMUOOK. cobupaHust OITUOOK.

9. | B paGore mpucyrctBytor He Oojiee nByX | [Ipp 3TOM JeKCHYeCKHME ONIMOKU HE
JICKCHYECKHUX OIIHOOK. 3aTPYAHSIOT IOHUMAaHHUE.

10. | B pabote mpucCyTCTBYIOT He Oosiee ABYX | OmmMOKH  MOJCYUTHIBAIOTCS  METOJIOM
opdorpadpudaecknx W/WIM | COOMpaHus OMMUOOK, MPHU ATOM HH OJHA
MYHKTYallMOHHBIX ONTHOOK. omurOKa He 3aTPYAHICT MOHUMaHUE.

Pexomenayercs 0opMIISTh MPOTOKOJ CIEAYIOIIHM 00pazoM:

Kpurepnit

/

YYaCTHHKA

No

1

2

3

10

Htoro
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9 — 11 kiaacehl

HazBanue koHkypca [IpoaomKUTENLHOCTD MakcumanbHBIN 0asut
(MuHYT)

Konkypc noHuManusi ycTHOU 10

peun

Konkypc nonnmanus 10

MHUCbMEHHOW peun

Jlexcuko-rpaMMaTHYECKUI 20

KOHKYpC

Konkypc nuceMeHHOM peun 10

Wroro: 100 50

Konxypc nonumanus ycmnoii peuu
3a KaKbIi MPaBUIIBHBIA OTBET yYaluiics moiaydaeT 1 6am.
Kmrou: 1 - 1/T;2-1/T; 3-2/F; 4-3/INS; 5-1/T; 6 - 2/F; 7—3/NS; 8 — 2/F; 9 — 1/T; 10 — 2/F
Kounkypc nonumanus nucbmennou peuu
3a KaXKJplil MpaBUIIbHBINA OTBET ydaluiics nojydaer 1 6ai.
Kmou:1-A;2-D;3-A;4-C;5-D;6-A;7-B;8-B;9-B;10-D
Jlexcuko-epammamuyeckuii KOHKypc

3a KaXJ1blil MPaBUIILHO JAHHBIM OTBET ywaluuiics nonyvaer 1 6ami. [Ipu Hanuuum opdorpaduueckoit
ommOKkn B oTBere OTBeT oueHuBaercs B 0 OamioB. KoHkypc mnpoBepsieTcss cTporo 1o
IPEACTABICHHBIM  KJO4aM. B ciyyae BO3HMUKHOBEHUS Y MYHHMIMIAIbHOM  KOMHCCHH
aIbTEPHATUBHOIO BapHaHTa KJII0Ya HEOOXOAMMO MAKCHUMAaJIbHO ONEPAaTUBHO COIJIACOBATH BOIIPOC Y
npecenaress pernoHaAIbHONM KOMUCCHH UIIH €70 3aMECTUTEIIS.

Kimroun

Yacte 1: 1 — charge; 2 — desert; 3 — pick; 4 —book; 5 — build

Yacte 2: 1 —to; 2 —-much; 3 —+; 4 —about; 5— +; 6 —the; 7 — been; 8 —+; 9 — +; 10 — could; 11 —
out; 12 — +; 13 —to; 14 — +; 15 — begin/learn

Konxypc nucomennou peuu

KoHkypc NHCBMEHHON peuYd OLIEHHMBAETCS B PEXKHUME JUXOTOMHYECKOW MIKOJIbI, TaK Kak
JTUXOTOMHYECKAS IIKaja IOMYCKAeT 3HAYNTEIHPHO MEHBIIYIO JTOJ0 CYOBEKTHBU3MA TIPH OI[CHUBAHUH.

[lepen Tem, kKak MPOBEPATH pabOTy, KIOPH IMOACUYMUTHIBACT KOJIMYECTBO CJIOB B Heil. Ecim B
pabote menee 180 cioB (200 — 10% ot 200), To paboTa He mpoBepsieTcs («rexHudeckuit» 0). Ecnu B
pabote 6ostee 275 cmoB (250 + 10% ot 250), TOo mpoBepke MOAIEKAT TOJIBKO TepBbie 250 CIoB.

[Tpu oneHuBaHuM pabOTHI WIEHY KIOpHU mpuaercs Ha 10 BompocoB mo paboTe OTBETUTH «J1a» WIN
«Het». Kaxnpiii oTrBer «ma» o0o3HayaeT 3apaboTaHHbI yuammmcs | Oamn. MakcumanbHoe
KOJIMYECTBO OaiIoB 3a JaHHBIA KOHKYpC — 10.

Kropu nposepsier 3amudpoBannbie padoThl. [Ipyn Hammuuu B paboTe MOMET, HE OTHOCSAIIMXCS
HENOCPEACTBEHHO K  BBINOJHEHUIO 3aJaHusi, JIMYHOW TMOANMMCH, a TakKe HCIpPaBICHUIN
KOPPEKTUPYIOIIUMH CPEICTBaMHU, pPaboTa OJKHA OBITh CHATA C KOHKYpCA.
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Paboty mpoBepsIoT JBa WieHa >KIOpU HE3aBHCUMO JpyT OT Apyra. Ecnu B olieHKe ABYX 4WIECHOB
KIOPH €CTh pazHoriacue B 1 6ami, To pe3yapTaT TPAaKTYIOT B MOJb3y peOeHKa (BBICTABISAIOT OoJiee
BbICOKHI Oasut). Eciu B olleHKE ABYX YJICHOB JKIOpU €CTh pa3Horiacue B 2 0amia, TO pe3yibTar
OyZeT cpeqHuM apu(PpMETHUECKUM OLIEHKH JBYX WIEHOB >ktopu. Ecim pa3Horiacue BO MHEHUSX ABYX
4YJICHOB XopW B 3 Oanmna wim Oonee, paboTa MpOBEpSETCS JIMYHO TpeacenaTreeM KOMHCCHH HWIIH
YIIOJIHOMOYEHHBIM WJIM MPEACTABUTENEM, U TOJIBKO Pe3yIbTaThl TPEThEH MPOBEPKHU BHICTABISIOTCS B
IPOTOKOJL

No Kpurepuit Kommenrapuit

1. Texct pa3znernen Ha ab3aLibl. Vyamuiics BOpaBe IeIUTh TEKCT Ha ad3albl B
COOTBETCTBUU C BHYTPEHHEW JIOTUKOW CBOEHU
paboThI.
JIroboit ab3aly HE MOXKET COCTOATh M3 OIHOTO
MPOCTOTO MPEJIOKECHHUS.

2. Pacckas o3arnasieH.

3. VYyamuiics oOmMChHIBaeT YYBCTBA U
AMOITUHU XOTsI ObI OJTHOTO TIEPCOHAXKA.

4, Yyamuiicss UICTIOJIb3yeT XOTs Obl OAUH
npumep npsmor WJIM  xocBeHHOU
peuu.

S. Pacckas ydauierocs HOCHT
FOMOPUCTUYECKUI NJIn
OpPUTMHAJIbHBIN XapakTep.

6. Pacckaz mmeer Heoxunannyro HJIU
OpPUTMHAJIbHYIO KOHIIOBKY.

7. B pabGote npucyrcTtByroT He MeHee 5 | YUUTHIBAIOTCS  BBOAHBIE  CJIOBAa, a  TaKXKe
Pa3HOOOPA3HBIX CPEICTB JIOTHYECKOW | CBA3YIOIIME JIIEMEHTHI B CIIOKHOMOJIYMHEHHBIX
CBSI3H. MPEITIOKEHUSX.

8. B pabore mpucyrcTByror He Oojee | OMMOKHA TMOJICYUTHIBAIOTCS METOJIOM COOMpPAHHS
JIBYX TPAMMAaTHYECKUX OMIHOOK. OIHMOOK.

9. B pabGote mpucyrctBytor He Oonee | [Ipu 3TOM nexcudeckue OMMOKH HE 3aTPYTHSIOT
JIBYX JICKCUYECKUX OIMHIOOK. MOHWMAaHHE.

10. | B paGore mnpucyTcTBYIOT He Oonee | OmMOKH TOJICYUTHIBAIOTCS METOJOM COOHUpaHUs
JBYX opdorpapuyeckux u/unu | omuOOK, TMpU H3TOM HH OJHA OIIKMOKa He
MTYHKTYallHOHHBIX OIIUOOK. 3aTpyIHSET HOHUMAaHHUE.

Pexomenyercs 0opMIISITE IPOTOKOJ CIEAYIOMHUM 00pa3oM:

Kpurepuit
/ Ne

Y4aCTHHUKA

1

OO INOHOT B WIN
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